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Chemistry

1. Find the exact number of Ione pair of

electrons at the central atom in 

and , respectively

XeF4, XeO4

XeO2F2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_7mYEb55SPztE


A. 2,2,1

B. 2,0,1

C. 2,1,1

D. 2,2,2

Answer: B

View Text Solution

2. The correct values of ionization enthalpies

(in kJ )of Si, P, Cl and S respectively are:mol− 1

https://dl.doubtnut.com/l/_7mYEb55SPztE
https://dl.doubtnut.com/l/_L57lnRUFwxT6


A. 

B. 

C. 

D. 

Answer: C

View Text Solution

786, 1012, 999, 1256

1012, 786, 999, 1256

756, 1012, 1256, 999

786, 999, 1012, 1256

3. Which of the following options are correct? 

a. Cast iron is obtained by remeting pig iron

with scrap iron and coke using hot air blas. 

https://dl.doubtnut.com/l/_L57lnRUFwxT6
https://dl.doubtnut.com/l/_vRYNV5I0F5Zd


b. In extraction of silver, silver is extracted as

cationic complex 

c. Nickel is purified by zone refining 

d. Zr and Ti are purified by van Arkel method

A. b,c

B. a,d

C. b,d

D. a,c,d

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_vRYNV5I0F5Zd


4. Identify the chemical reaction involved in

water gas shift reaction:

A. 

B. 

C. 


D. 

Answer: B

View Text Solution

C + H2O
Δ

−−−−−→
Ni

CO + H2

CO + H2O
Δ

−−−−−→
catalyst

CO2 + H2

CnH2n + 2 + nH2O
Δ

−−−−−→
Ni

nCO

+(2n − 1)H2

C + O2 → CO2(g)

https://dl.doubtnut.com/l/_vRYNV5I0F5Zd
https://dl.doubtnut.com/l/_N9mIy3cMcvJL


5. The number of gaseous product (s) are

formed on the basis of following reactions 

 


(Chemical reactions of the lanthanoids)

https://dl.doubtnut.com/l/_N9mIy3cMcvJL
https://dl.doubtnut.com/l/_jg3P1KKDKiDH


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

1

2

3

4

6. Both geometrical and optical isomerism are

exhibited by:

https://dl.doubtnut.com/l/_jg3P1KKDKiDH
https://dl.doubtnut.com/l/_UgMqioqjAJqX


A. Dichlorobis (enthylenediamine) cobalt

(III) ion

B. Pentaamminechklorocobalt (III)

C. Triamminotrichlorocoblat (III) ion

D. Tetraamminedichklorocoblat (III) ion

Answer: A

View Text Solution

7. Which of the following is correctly matched?

https://dl.doubtnut.com/l/_UgMqioqjAJqX
https://dl.doubtnut.com/l/_Zke39QqYB5QA


A. . Baking soda

B.  -slaked lime

C. - washing soda

D. - Dead Burnt Plaster

Answer: D

View Text Solution

Na2CO3.10H2O

CaCO3

NaOH

CaSO4

8. Product of the following reaction is 

Ph − N +
2 Cl− H2O

−−−−−→
Δ

https://dl.doubtnut.com/l/_Zke39QqYB5QA
https://dl.doubtnut.com/l/_vCTGvKpvF4aX


A. 

B. 

C. 

D. 

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_vCTGvKpvF4aX
https://dl.doubtnut.com/l/_INUrYmiMG1ug


9. Given 3 isomeric compounds M,N and P of

 which gives the following tests, 


(I) M and P form an adduct by reacting with

sodium bisulfite. 

(II) N cosumes 1 mole of bromine and also

gives turbidity with conc. 

HCl/anhydrous  after prolonged

heating. 

(III) M reacts with excess of iodine in alkaline

solution to give yellow crystalline compound

wiht a characteristic smell. 

(IV). p-Rosaniline treated with sulphur dioide

C5H10O

ZnCl2

https://dl.doubtnut.com/l/_INUrYmiMG1ug


develop pink colour on shaking with P. 

What are the structures of M,N and P,

respectively?

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_INUrYmiMG1ug
https://dl.doubtnut.com/l/_ReZZvNU76wZj


10. Which of the given statement is correct:

A. Fructose is redusing sugar

B. Amylopectine is soluble in 

C. - forml glucose has higher melting

point than its - form

D. Sucrose is made of  glucose

and  fructose

Answer: A

View Text Solution

H2O

α

β

β − D −

β − D

https://dl.doubtnut.com/l/_ReZZvNU76wZj


11. Correct bond length order for carbon

halogen bond:

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

C − Cl > C − Br > C − I > C − F

C − F > C − Cl > C − Br > C − I

C − F < C − Cl < C − Br < C − I

C − I < C − Br < C − F < C − Cl

https://dl.doubtnut.com/l/_oG2GkCviLHYB
https://dl.doubtnut.com/l/_djQeYO3dCfF3


12. ?

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

3CH3 = C ≡ Ch
Red hot

−−−−−−→
Cu tube

https://dl.doubtnut.com/l/_djQeYO3dCfF3


13. Which is the most stable conformation

among the following?

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_djQeYO3dCfF3
https://dl.doubtnut.com/l/_ADy9jwOVZbtU


Answer: D

View Text Solution

14. Reaction of Benzaldehyde with

formaldehyde in the presence of conc. NaOH

gives:

A. 

B. 

C. 

https://dl.doubtnut.com/l/_ADy9jwOVZbtU
https://dl.doubtnut.com/l/_AudqPJYsZb4l


D. 

Answer: D

View Text Solution

15. IUPAC name of the antiseptic chloroxylenol

is

A. 4-chloro-3,5-dimethyl phenol

B. 3-chloro-4,5-dimethyl phenol

C. 4-chloro-2,5- dimethyl phenol

https://dl.doubtnut.com/l/_AudqPJYsZb4l
https://dl.doubtnut.com/l/_X9C6k4Smt31u


D. 5-chloro-3,4-dimethyl phenol

Answer: A

View Text Solution

16. The resistance of  solutioin is 

. Calculate the molar conductance of the

solution if the electrolytes in the cell are 7 cm

apart and each has an area of .

A. 

KCl
M

10
250Ω

7cm2

2Ω− 1cm2mol− 1

https://dl.doubtnut.com/l/_X9C6k4Smt31u
https://dl.doubtnut.com/l/_boXbUQKPwaPW


B. 

C. 

D. 

Answer: C

View Text Solution

20Ω− 1cm2mol− 1

40Ω− 1cm2mol− 1

80Ω− 1cm2mol− 1

17. In Schottky defect:

A. Density remains unchangedd

B. Density gets decreased

https://dl.doubtnut.com/l/_boXbUQKPwaPW
https://dl.doubtnut.com/l/_p1KQ37AztQ4T


C. Denisty gets increased

D. limiting radius ratio is low

Answer: B

View Text Solution

18. How many electrons would be lost when

13.5 g of aluminium atoms change to 

ions?

A.  electrons

Al3 +

18.0 × 1023

https://dl.doubtnut.com/l/_p1KQ37AztQ4T
https://dl.doubtnut.com/l/_6z1ExDFYVmYW


B. electrons

C.  electrons

D.  electrons

Answer: D

View Text Solution

6.023 × 1023

3.01 × 1023

9.1 × 1023

19. The average velcoity of an ideal gas

molecule at  is 0.3m/sec the average

velocity at  will be:

27∘ C

927∘ C

https://dl.doubtnut.com/l/_6z1ExDFYVmYW
https://dl.doubtnut.com/l/_tdlwRLff0SvL


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

0.6m sec− 1

0.3m sec− 1

0.9m sec− 1

3.0m sec− 1

20. The orital diagram in which aufbau

principle is violated is:

https://dl.doubtnut.com/l/_tdlwRLff0SvL
https://dl.doubtnut.com/l/_pQcKhEwxFeW8


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

21. Ethylene Diammine Tetra Acetate (EDTA)

forms stable complexes with most of the

transition metals. In an octahedral comlex like

https://dl.doubtnut.com/l/_pQcKhEwxFeW8
https://dl.doubtnut.com/l/_MlQVJszLyzXF


 where M is central metal

atom having +2 oxidation state, find the

number of M-O bonds

View Text Solution

[M(EDT A)]2 −

22. How may of the following salts show

increase in solubility in water with rise in

temperature? 

i. 


ii.  


iii. 

NaNO3

Li2SO4

NH4Cl

https://dl.doubtnut.com/l/_MlQVJszLyzXF
https://dl.doubtnut.com/l/_lhlkOqkWkiPw


iv.  


v. 


vi. 


vii. 

View Text Solution

AgNO3

Ce2(SO4)3

KCl

Na2CO3. H2O

23. How many metalloid (s) present in group 15

of the periodic table?

View Text Solution

https://dl.doubtnut.com/l/_lhlkOqkWkiPw
https://dl.doubtnut.com/l/_y5a5nCvedwoB


24. Among the following compounds, how

many number of compounds liberates

ammonia on reaction with ? 

View Text Solution

NH4Cl

https://dl.doubtnut.com/l/_N4q7pkI2K9K2


25. How many of the total number of

compounds that gives positive iodoform test? 




, 





View Text Solution

CH3CH2OH, PhCHO, CH3COCH3

(CH3)2, CHOOH, HCHO

CH3(CH2)2COCH3

PhCH2OH, CH3CH2COPh

26. Determine  for following reaction at

same Temperature if A flask contains an

Kp

https://dl.doubtnut.com/l/_ycM2ASjlPAR7
https://dl.doubtnut.com/l/_7TYMXWXQvcoy


equilibrium mixture of  and I atomic (g)

as 




The equilibrium pressure was 2.4 atm at

constant volume and temperature. At

constnat volume and Temperature if  at a

partial pressure of 3 atm is added to the new

equlibrium pressure was 5.66 atm.

View Text Solution

I2(g)

I2(g)hARr2l(g)

I2(g)

https://dl.doubtnut.com/l/_7TYMXWXQvcoy


27. In 100 mL of water, a sample of hydrazine

sulphate  was dissolved 10mL of

this solution was reaction with excess of ferric

chloride solution and warmed to complete the

reaction. Ferrous ion formed was estimated

and it requried 20 mL fo M/50 potassium

permanganate solution. 

Find out the amount of hydrazine sulphate in

one litre of the solution. The reaction is given

below: 

(N2H6SO4)

4Fe3 + + N2H4 → N2 + 4Fe2 + + 4H +

https://dl.doubtnut.com/l/_aOI7wgzwQvJH


A. 6.5

B. 

C. 

D. 

Answer:

View Text Solution

28. How many grams of  will be

present in a 500 g solution of 

labelled as 5% w/w?

KMnO4

KMnO4

https://dl.doubtnut.com/l/_aOI7wgzwQvJH
https://dl.doubtnut.com/l/_slxHojk4vHtD


View Text Solution

29. For a certain reaction involving a single

reactant, it isfound that  is constant

where  is the initial concentration of

reactant and  is the half life. The order of

reaction is

View Text Solution

C0√t1 / 2

C0

t 1

2

https://dl.doubtnut.com/l/_slxHojk4vHtD
https://dl.doubtnut.com/l/_vQ2zttXfMsay


30. Calculate the heat of combustion of trans-

2-butene. Also calculate the bond energyof

C=C bond in trans-2-butene. Express your

Answer in terms of the sum of both

(magnitude only) divided by 100 to the nearest

integer. 

For the reaction 

cis-2-butene  trans-2-butene and cis-2-

butene  1-butene 


 and  cal/mol 


respectively. The heat of combustion of 

1-butene is -649.8 kcal/mol 

→

→

ΔH ∘ = − 960 +1771

https://dl.doubtnut.com/l/_gbiIEe1rTI0W


Given 

Be of 





and  kcal/mol respectively.

View Text Solution

C = O = 196, O − H

= 110, O = O = 118, C − C = 80

C − H = 98

https://dl.doubtnut.com/l/_gbiIEe1rTI0W

